Py

Racing Screerrs

CARENABRIS TRAFFIC ADAPTABLE A -

Mod.: TRAFIC

MOTOPLASTIC, S.A. WINDSHIELD TRAFFIC ADAPTABLE A - WINDSCHUTZSCHEIBE TRAFFIC FUR Ref ] 4873
Moli de la sal, 1 - 08403 Granollers (Barcelona) SPAIN UNIVERSAL "
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com Mod.: URBAN
www.puig.tv - www.puigusa.com Ref : 7599
En las revisiones del vehiculo es conveniente efec-
tuar también el mantenimiento de apriete de toda la "
tornilleria del carenabris, especialmente los tornillos MONTAJE PARA / MOUNTING FOR / MONTAGE FUR
que fijan éste al vehiculo. HON DA IN NOVA - WAVE
Gracias por su atencion.
It would be convinient to re-tight the windshield
screws, specially the ones that are fixed to the mo-
torcycle, whenever you maintain the vehicle.
Thanks for your attention.
MOD. TRAFIC MOD. URBAN In der Untersuchung des Fahrzeugs, Uberpriifen Sie
die Schraubenverbindungen, besonders die Schrau-
ben, die an dem Motorrad befestigt sind.
g E Danke fiir Ihre Aufmerksambkeit.
o o\ |S o o\ |4
o o | o o ¥
370mm 390mm
ID.| DESCRIPCION DESCRIPTION QTY.
1 Pantalla Windshield 1
2 | Tornillo DIN 7991 M6x22 Mé6x22 DIN 7991 screw 2
3 | Arandela de plastico @30 Plastic washer @30 4
4 | Cilindro con taladro pasante M8x25 Cylinder with drill through M8x25 2
5 | Tornillo DIN 913 M8x8 M8x8 DIN 913 screw 2
6 | Varilla calibrada @9x180 @9x180 bar 2
7 | Cilindro M8 con taladro Cylinder M8 with drill through 2
8 | Arandela con rebaje Special washer 2
9 | Soporte 45x32x25x3 @8xD8 45x32x25x3 @8x@8 metal support 2
10 | Tuerca DIN 6923 M8 M8 DIN 6923 nut 4
11 | Tope de plastico Plastic cover 4
12 | Casquillo @14 @8x6 - 12 - 22 - 30 @14 @8x6 - 12 - 22 - 30 arrowhead 8
13 | Tuerca M8 rosca izquierda M8 nut left side 2
14 | Tornillo M8x25 - 30 - 35 - 45 M8x25 - 30 - 35 - 45 screw 8
15 | Tornillo M8x25 - 30 - 35 - 45 rosca izq. M8x25 - 30 - 35 - 45 screw left side 8
16 | Soporte retrovisor @8x@J8 @8x@8 support 2
17 | Caperuza plana M8 M8 nut cover 6
18 | Soporte 45x32x25x3 @8xD10 45x32x25x3 @8x@10 metal support 2
19 | Tapén tornillo Screw cap 2

Created by: www.ciandisseny.com



